Addition & Subtraction
Worksheet-4

I. Find the answer.
a) 26 + 29 - 16
b) 38 + 17 - 21

c) 14 +44-19
d) 64 + 32 - 17
e) 24 +32-15

2. Write the numbers in vertical column and add:

(a) 268 + 714
(b) 356 + 429
(c) 208 + 436
(d) 254 + 126 + 983
(e) 542 + 863 + 415

3. Subtract:

(a) 474 from 563
(b) 149 from 327
(c) 362 from 548
(d) 547 from 635
(e) 3468 from 6800
4.Solve




a) Find the difference of the two sums, 14581 + 18541 and 23427
+ 23243,

b) Find the sum of the two differences, 32309 — 23903 and 41724 —
31527.

c) A milk-dairy produces 25,545 litres of milk every day. It
supplies 15,625 litres of milk to a milk-depot and the rest to the
market. How much milk is supplied to the market?

d) The sum of two numbers is 94506. One of the numbers is
49605. Find the other number.

e) The sum of two numbers is 45000. One of the numbers is
22500. Find the other number. Which part of the sum is the
given number?




